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QUESTION 1

Regarding the advantages of MCU cascading networking, the following statement is wrong ()
A. Insufficient port capacity of a single MCU, cascade to increase capacity

B. The center MCU line bandwidth is insufficient, cascading reduces bandwidth requirements
C. Realize device partition management

D. Strengthen meeting security

Correct Answer: D

QUESTION 2

After the terminal initiates a call and sends an ARQ message to GK, it receives an ARJ message. The possible reason
for the call rejection is () (multiple choice)

A. The called is offline

B. The called party refuses to answer
C. Insufficient call bandwidth

D. called busy

Correct Answer: AC

QUESTION 3

In the Converged Conference 3.0 solution, no matter whether the multimedia cascade mode or the MCU center mode is
used, all the audio and video media streams of the Web client need to be forwarded by the USM/MS system as a
proxy? Correct or Wrong

A. Correct

B. Wrong

Correct Answer: A

QUESTION 4

Among the following types of boards, the one that can provide the function of connecting the U1960 to the PSTN is ()
(single choice)

A. SCU

B. ASI
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C. MRS
D. OSuU

Correct Answer: D

QUESTION 5

E1 and 4EL1 lines do not support H.460 traversal networking. () Correct or Wrong
A. Correct

B. Wrong

Correct Answer: A
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